Maytag PAVT234AWW 03 - CONTROL PANEL

Maytag Residential Maytag PAVT234AWW Washer Parts Parts Diagram 03 - CONTROL PANEL
Click on the part number to view part

1 21001951 Panel, Control
2 21001519 Endcap
" 25.3092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
3 21001523 Endcap
Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping
4 21001226 Swit.c.h, Water Temp. 4
B Position
" 25.3092 90767 Screw, 8A X 3/8 HeX Washer
~ Head Tapping
5 253092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping
" 21001882 Switch, Pressure
6 21001953 21001600 Skirt, Timer
7 21001952 21001972 Knob, Timer
8 21001603 Shield, Control
9 21002005 Frame, Control Panel


http://www.pwslaundry.com/c-505258-residential-maytag-pavt234aww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10405575-maytag-21001951-washer-panel-control.html
http://www.pwslaundry.com/i-10410321-maytag-21001519-washer-dryer-endcap.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10410322-maytag-21001523-washer-dryer-endcap.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402324-maytag-21001226-washer-switch-water-temp-4-position.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402305-maytag-21001882-washer-switch-pressure.html
http://www.pwslaundry.com/i-10403467-maytag-21001600-washer-skirt-timer.html
http://www.pwslaundry.com/i-10402774-maytag-21001972-washer-knob-timer.html
http://www.pwslaundry.com/i-10409693-maytag-21001603-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10410323-maytag-21002005-washer-dryer-frame-control-panel.html

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

13 21001883 Harness, Wiring

" 21001979 Lead Assembly


http://www.pwslaundry.com/i-10409688-maytag-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10402265-maytag-21001522-washer-timer.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10410324-maytag-21001954-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10402780-maytag-21001883-washer-harness-wiring.html
http://www.pwslaundry.com/i-10409705-maytag-21001978-washer-dryer-lead-assembly.html
http://www.pwslaundry.com/i-10402346-maytag-21001979-washer-lead-assembly.html

	Maytag PAVT234AWW 03 - CONTROL PANEL

